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Public Administration 

Yá˚] Yy ( 5th Paper : Public Policy Analysis ) 
a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 80% ) 
( Weightage of Marks : 80% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 
 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 18 × 2 = 36 

 (Eı) LXX›◊Tˆ Eı› ? LXY“`ÁaX `Á‰ÿóˆÃ[˝ =Y„l˘y ◊c˜„a„[˝ 
LXX›◊TˆÃ[˝ Y◊Ã[˝◊W˝ [˝ÓÁFÓÁ EıÃ[˝”X* 

 (F) LXX›◊Tˆ Y“SÃ^X Y“◊y‘Ã^ÁÃ[˝ ◊[˝◊\ˆ~ ÊY“◊l˘Tˆ ◊[˝‰`¿bS 
EıÃ[˝”X* 

 (G) XÃ^Á ]ÁEÔıa[˝ÁV› ◊X\ˆ¤Ã[˝TˆÁ Tˆ„√º¯Ã[˝ ◊[˝◊\ˆ~ Ã[˝÷Ym◊_ 
%Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (H) LXX›◊Tˆ Y“SÃ^„XÃ[˝ ^«◊N˛[˝ÁV› ]„Qˆ_-AÃ[˝ ]…_ 
È[˝◊`rÙÓm◊_ [˝ÓÁFÓÁ EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 
(Eı) "◊Qˆa„EıÁaÔ ÊZ–ı]CÃ^ÁEÔı' EıUÁ◊ªRÙOÃ[˝ %UÔ C TˆÁdY^Ô [˝ÓÁFÓÁ 

EıÃ[˝”X* 
(F) LXX›◊Tˆ Y“SÃ^„X A[˝e ]…_ÓÁÃ^„X Y«Ã[˝a]Á„LÃ[˝ \…ˆ◊]EıÁ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 
(G) LXX›◊Tˆ Y“◊y‘Ã^ÁÃ^ %Á]_ÁTˆ„‹óˆÃ[˝ \…ˆ◊]EıÁ Y^ÔÁ„_ÁªJÙXÁ 

EıÃ[˝”X* 
(H) c˜O„Ã^„c˜L„Eı_ QŒˆÃ[˝-AÃ[˝ LXX›◊Tˆ Tˆ√º¯◊ªRÙO [˝ÓÁFÓÁ EıÃ[˝”X* 
(I¯) LXX›◊TˆÃ[˝ ]…_ÓÁÃ^„XÃ[˝ Y“„Ã^ÁLX›Ã^TˆÁ a+„EÔı ªRÙO›EıÁ 

◊_F«X* 
(ªªJÙ˜) GÓÁ◊[˝–„Ã^_ %ÓÁ_]„â¯Ã[˝ EıÁPˆÁ„]Á-EıÁ^Ô[˝ÁV ]„Qˆ_ 

a+„EÔı AEı◊ªRÙO ◊[˝[˝Ã[˝S ◊VX* 
3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 7 × 4 = 28 

(Eı) CÃ^Á_ÁÃ[˝rÙÁc˜OX ◊[˝`ü[˝Ó[˝ÿöˆÁ„Eı ◊Eı\ˆÁ„[˝ aep˚Á◊Ã^Tˆ 
Eı„Ã[˝‰ªK˜X ? 

(F) LXX›◊Tˆ ◊XW˝ÔÁÃ[˝„S GS]ÁW˝Ó„]Ã[˝ \…ˆ◊]EıÁ ◊XÃ[˝÷YS EıÃ[˝”X* 
(G) 'Top-Down' ]„Qˆ_ [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? 
(H) c˜Á[˝ÔÁªRÙO¤ aÁc˜O]X "^„UrÙ›EıÃ[˝S' [˝_„Tˆ Eı› [˝«◊Mı„Ã^‰ªK˜X ? 
(I¯) LXX›◊Tˆ Ã[˝÷YÁÃ^„S •ÁÃ[˝Ã[˝l˘Eı EıÁÃ[˝Á ? 
(ªJÙ) LXX›◊Tˆ Y“SÃ^„X Ã[˝ÁLÍX◊TˆEı V„_Ã[˝ \…ˆ◊]EıÁÃ[˝ mÃ[˝”±ºˆ 

◊XSÔÃ^ EıÃ[˝”X* 
(ªK˜) LXX›◊Tˆ Y“SÃ^„X YgÁªJÙ◊ªRÙO YV„l˘Y Eı› Eı› ? 
(L) LXX›◊Tˆ ◊[˝‰`¿b„S %ÓÁ◊]TˆÁc˜O AªRÀÙO◊LC◊X-Ã[˝ "ae‰`¿bEı 

]„Qˆ_'-AÃ[˝ ]…_ [˝N˛[˝Ó◊ªRÙO =VHÁªRÙOX EıÃ[˝”X* 
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( ENGLISH VERSION ) 
 

1. Answer any two of the following : 18 × 2 = 36 
 a) What is Public Policy ? Explain the scope of 

Public Policy as a sub-field of the discipline 
of Public Administration. 

 b) Analyse the different contexts of the 
process of public policy analysis. 

 c) Discuss the various forms of Neo-Marxist 

Dependency theory. 

 d) Discuss the basic tenets of the Rational 

model of policy making process.  

2. Answer any three of the following : 12 × 3 = 36 

a) Explain the meaning and significance of 
'Discourse Framework'. 

b) Discuss the role of the civil society in the 
making and evaluating of Public Policy. 

c) Examine the role of bureaucracy in the 
public policy process. 

d) Explain Yehezkel Dror's theory of Public 
Policy. 

e) Write a note on the necessity of the 
evaluation of Public Policy. 

f) Give an account of Gabriel Almond's 
Structural-Functional model. 

3. Answer any four of the following : 7 × 4 = 28 
a) How does Wallerstein define the world 

system ? 
b) Discuss the role of mass media in 

determining the public policy. 
c) What is meant by 'Top-Down' model ? 
d) What does Herbert Simon mean by 

'satisficing' ? 
e) Who are the gate-keepers in the process of 

policy implementation ? 
f) Assess the role of political parties in the 

making of public policy. 
g) Name the five steps in the policy-making 

process. 
h) Bring out the basic arguments of the 

'Synthetic model' of Amitai Etzioni in public 
policy analysis. 

    


